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QUESTION 1

Which of the following statements are true? (Choose two.)

A. if invoking open () fails, an exception is raised

B. open () requires a second argument

C. open () is a function which returns an object that represents a physical file
D. instd, outstd. errstd are the names of pre-opened streams

Correct Answer: AC

QUESTION 2

.« Program finished with exit code O
Press ENTER to exit console.[]

Assuming that the following snippet has been successfully executed, which of the equations are True? (Select two
answers)

a=[1]
b=a
al0] =0

A. len(a) ==len (b)
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B. b [0] +1 ==a [0]
C.a[0]==b[0]
D.a[0] + 1 ==b[0]

Correct Answer: AC

. Program finished with exit code O

Press ENTER to exit console.

QUESTION 3

Assuming that the following inheritance set is in force, which of the following classes are declared properly? (Choose
two.)

class A:
pass

class B(A):
pass

class C(A):
pass

class D(B):
pass
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A. class Class_4(D,A): pass
B. class Class_3(A,C): pass
C. class Class_2(B,D): pass
D. class Class_1(C,D): pass

Correct Answer: AD

QUESTION 4

Which one of the platform module functions should be used to determine the underlying platform name?
A. platform.python_version()

B. platform.processor()

C. platform.platform()

D. platform.uname()

Correct Answer: C

QUESTION 5

A method for passing the arguments used by the following snippet is called:

def fun (a, b):
return a + b

res = fun (1, 2)
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A. sequential

B. named

C. positional

D. keyword
Correct Answer: D

Reference: https://www.techbeamers.com/python-function/
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